S apeIRA
Mo o2, 22, SUH2 UHUE HesE =4
SRl XASEL a1 24 (ctel: &
S EH S (3) - MR A o e Hlm= 2
SprATA 1,690,248 1,520,985 169,263
= 33,225
& 1,657,023
2eiel, 2Hel, EZHel Edu= 605,904 489,824 116,080
g 33,225
= 572,679
HEM LAY EA 255, 104 240,716 14,388
= 33,225
& 221,879
SIMA RHRAEE = 218,578 204,190 14,388
101 14| 28,200 19,200 9,000
04 JI2ZtMZ22XSE+ 28,200 19,200 9,000
OANENH AIEEx & &F 28,200
201 Let243| 16,800 17,500 AT00
03 A2 ZH| 16,800 17,500 AT00
O+ SILF At 3,000
OU=s+H SILI A 3,000
Odil+=™ &0 5 X 4,800
OU=9 &0 s Iz 4,800
OOl +ASYADS YA 1,200
206 M=l 160,000 150,000 10,000
01 M=4| 160,000 150,000 10,000
Odi+=H A2l M=z 85,000
O3 Ats22 M2 75,000
301 L2 AZ 13,578 17,490 28,912
09 SU2RRIABHN = 11,478 16,490 AN5,012
(OF={0; 3,510
O&All 3,600
OunEH| 3,168
Ol =l 1,200
10 At HIE& =3 2,100 1,000 1,100
Oxftnsated FATS 4 2,100
ELUHE XHEF Bt 36,526 36,526 0
= 33,225
= 3,301
206 M=l 36,526 36,526 0
= 33,225
& 3,301
01 M=H| 36,526 36,526 0
OEMUE XNAHER(5F) 36,526
= 33,225
& 3,301
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SN SAHTA
HMa: oijel, 2Hel, BN EHUE esH T4
SH9l: SSotn XESHE AT (25l &2
_ _ HEC
SH-EH . C(BH) - NRAY - BES 0 AF oA il o o Hns2
SSotD AYEE AT 117,800 109,832 7,968
NESHZ L ABASHT 25 117,800 109,832 7,968
101 2124l 28,200 19,200 9,000
04 JIAH2EZXES4 28,200 19,200 9,000
ONBOASURASATAZE 28,200
201 Yer2 Yyl 14,600 26,232 A11,632
01 At 2l 14,600 26,232 A11,632
OMA 2 AR A 22 6,000
OZQ44 Al |X2e 8,000
ONOIL & 3t5lS &asl| 600
203 HRFY| 3,000 2,400 600
03 AIRZTQ R =AY 3,000 2,400 600
OFMARYL =T 3,000
206 TWEH| 15,000 22,000 A7,000
01 THEtl 15,000 22,000 A7,000
OU+SIAES Sest HE 15,000
207 & RIHELHI 47,000 40,000 7,000
03 Al& Q| 47,000 40,000 7,000
O+ AlgeD W2 27,000
OU48 AEeT M2 20,000
405 THAHE S 0,000 0 10,000
01 RMUSEHSH| 10,000 0 10,000
OMBIoT MIEZ Y| 10,000
NP 22 oIFX X2 233,000 139,276 93,724
NEEEb ORI 70,000 15,000 55,000
405 THAHE S 70,000 15,000 55,000
01 RUUSEHSH| 70,000 15,000 55,000
O+ ASS o4l 22 (20H) 20,000
Otfl+0 222 =F4 A 0,000
OU4=2t 2201 2] 25,000
OU+8 FADSIY| 15,000
A Y CBAILE 2elYs 163,000 124,276 38,724
201 Yer2 Y| 95,000 84,276 10,724
02 IT2YH| 95,000 84,276 10,724
oeigl 45,000
OAl S FHIR X b 30,000
Oxl S 20,000
401 AU 20| 63,000 20,000 43,000
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